
tgBoost = 314 K (0.99)
CP = 272 K (0.79)

tgBoost = 157 K (0.99)
CP = 175 K (1x10-3)

tgBoost = 201 K (0.99)
CP = 267 K (1x10-3)

tgBoost = 180 K (0.99)
CP = 281 K (6x10-4)

tgBoost = 196 K (0.99)
CP = 261 K (1x10-4)

tgBoost = 179 K (0.99)
CP = 261 K (3x10-3)

tgBoost = 170 K (0.99)
CP = 248 K (3x10-4)

tgBoost = 221 K (0.99)
CP = 266 K (5x10-2)

tgBoost = 198 K (0.99)
CP = 287 K (1x10-2)

tgBoost = 182 K (0.99)
CP = 254 K (1x10-3)

tgBoost = 176 K (0.99)
CP = 260 K (4x10-4)

tgBoost = 204 K (0.99)
CP = 263 K (8x10-3)

tgBoost = 216 K (0.99)
CP = 228 K (4x10-4)

tgBoost = 217 K (0.99)
CP = 234 K (1x10-3)

tgBoost = 177 K (0.99)
CP = 242 K (2x10-4)

1st gen.

3rd gen.

1st gen. 2nd gen. 1st gen. 1st gen.

decomp. 2nd gen. 3rd gen. decomp. 2nd gen.

3rd gen. decomp. decomp. decomp.

tgBoost = 285 K (0.99)
CP = 274 K (0.98)

tgBoost = 224 K (0.60)
CP = 238 K (0.32)

tgBoost = 268 K (0.96)
CP = 247 K (0.89)

tgBoost = 247 K (0.99)
CP = 272 K (0.99)

tgBoost = 217 K (0.13)
CP = 228 K (0.41)

tgBoost = 247 K (0.89)
CP = 270 K (0.72)

tgBoost = 248 K (0.99)
CP = 240 K (0.99)

tgBoost = 265 K (0.13)
CP = 245 K (0.44)

tgBoost = 304 K (0.92)
CP = 272 K (0.78)

tgBoost = 244 K (0.97)
CP = 264 K (0.92)

tgBoost = 277 K (0.99)
CP = 285 K (0.98)

tgBoost = 238 K (0.24)
CP =  262 K (0.87)

tgBoost = 200 K (0.84)
CP = 267 K (0.62)

tgBoost = 244 K (0.94)
CP = 249 K (0.83)

tgBoost = 172 K (0.77)
CP = 225 K (0.23)

2nd gen.

multi-gen.

3rd gen. 3rd gen. 1st gen. 2nd gen.

2nd gen. 2nd gen. multi-gen. 2nd gen. 3rd gen.

2nd gen. multi-gen. multi-gen. 1st gen.

(a) n-Hexadecane (C16)

(b) n-Decane (C10)


